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w ← w− α∇E(w).
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Tree 1 for class 1 Tree 1 for class 2 Tree 1 for class 3

Tree 2 for class 1 Tree 2 for class 2 Tree 2 for class 3

Tree 3 for class 1 Tree 3 for class 2 Tree 3 for class 3

proline <= 755.0
c_gb = -0.0

instances = 136
prediction=-0.0

c_gb = -18.1
instances = 84
prediction=-1.4

c_gb = -28.5
instances = 52
prediction=2.2

proline <= 755.0
c_gb = -0.0

instances = 136
prediction=-0.0

color_intensity <= 3.8
c_gb = -1.2

instances = 136
prediction=0.3

c_gb = -43.2
instances = 49
prediction=2.8

c_gb = -12.5
instances = 87
prediction=-1.1

color_intensity <= 3.9
c_gb = -0.6

instances = 136
prediction=0.2

flavanoids <= 1.2
c_gb = -1.1

instances = 136
prediction=-0.3

c_gb = -26.6
instances = 35
prediction=2.6

c_gb = -18.3
instances = 101
prediction=-1.3

flavanoids <= 1.4
c_gb = -0.6

instances = 136
prediction=-0.2

c_gb = -11.2
instances = 84
prediction=-1.2

c_gb = -13.2
instances = 52
prediction=1.4

flavanoids <= 2.3
c_gb = -0.0

instances = 136
prediction=-0.0

c_gb = -19.7
instances = 53
prediction=1.7

c_gb = -8.7
instances = 83
prediction=-1.1

alcohol <= 12.7
c_gb = -0.4

instances = 136
prediction=0.2

c_gb = -12.6
instances = 44
prediction=1.6

c_gb = -14.0
instances = 92
prediction=-1.3

hue <= 0.8
c_gb = -0.3

instances = 136
prediction=-0.2

c_gb = -9.1
instances = 76
prediction=-1.2

c_gb = -7.9
instances = 60
prediction=1.1

c_gb = -11.9
instances = 57
prediction=1.4

c_gb = -6.1
instances = 79
prediction=-1.0

c_gb = -9.5
instances = 35
prediction=1.6

c_gb = -8.3
instances = 101
prediction=-1.0
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https://ufal.mff.cuni.cz/~straka/courses/npfl129/2122/slides/10/gbt/playground.html
https://ufal.mff.cuni.cz/~straka/courses/npfl129/2122/slides/10/gbt/explained.html
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